Maytag MFR80PNCTS 01 - BASE FRAME

27-Apr-05
Maytag Commercial Maytag MFR8OPNCTS Washer Parts Parts Diagram 01 - BASE FRAME 504 648C
Click on the part number to view part
Item Original Part Number Replaced By Status Part Description
001 23004055 Frame Welded
003 23002487 23001266 Nut M8
004 23002280 Nut M6
005 23002423 23001361 Bolt
006 23002424 Washer M6.4
007 23002425 Locker Washer M6
009 23002427 Washer, Lock
010 23001608 Washer Lu
011 23002428 Clip, Cable
012 23002505 Plate, Earth
013 NLA Not Available PLATE, INDEX
015 23002432 Holder, Steam Valve
016 23002433 Holder
017 23002434 Screw
018 NLA Not Available NUT M8

019 23003773 Not Available NUT M6


http://www.pwslaundry.com/c-299698-commercial-maytag-mfr80pncts-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799483-maytag-23004055-washer-frame-welded.html
http://www.pwslaundry.com/i-7798482-maytag-23002487-washer-nut-m8.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7798351-maytag-23002280-washer-nut-m6.html
http://www.pwslaundry.com/i-7797880-maytag-23001361-washer-bolt.html
http://www.pwslaundry.com/i-7798442-maytag-23002424-washer-washer-m6-4.html
http://www.pwslaundry.com/i-7798443-maytag-23002425-washer-locker-washer-m6.html
http://www.pwslaundry.com/i-7798444-maytag-23002427-washer-washer-lock.html
http://www.pwslaundry.com/i-7798004-maytag-23001608-washer-washer-lu.html
http://www.pwslaundry.com/i-7798445-maytag-23002428-washer-clip-cable.html
http://www.pwslaundry.com/i-7798493-maytag-23002505-washer-plate-earth.html
http://www.pwslaundry.com/i-7798446-maytag-23002432-washer-holder-steam-valve.html
http://www.pwslaundry.com/i-7798447-maytag-23002433-washer-holder.html
http://www.pwslaundry.com/i-7798448-maytag-23002434-washer-screw.html

020 23002439 23001265 Washer

022 23002437 Washer M8

laundry company*

laundry company*

laundry company®


http://www.pwslaundry.com/i-7797823-maytag-23001265-washer-washer.html
http://www.pwslaundry.com/i-7798451-maytag-23002440-washer-washer-spring-lock.html
http://www.pwslaundry.com/i-7798449-maytag-23002437-washer-washer-m8.html
http://www.pwslaundry.com/i-7798606-maytag-23002756-washer-lockwasher.html

	Maytag MFR80PNCTS 01 - BASE FRAME

